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for i

i 1< length; ier {
ifis0(

@@ -63,11 +73,14 @@ func New(slot int, interval time.Duration, level .

W i= t.nevhheel(i, slot, n)

touheels[i] = w
t.uheels[i-1].2ddEntry(n, w.proceed, false,

7%+ if Tength-1 {
7+ t.wheels[il.addEntry(n, w.proceed, false, defaultTines, StatusReady)
78+ b

}else {

t.uheels[i] = t.newdheel(i, slot, interval)

w = tunewiheel(d, slot, interval)
towheels[i] = w
>
b
85 slots[(ticks+num)%w.number].PushBack(entry)
83 \ if !jobRan {
84 + entry.createMs = parent.createMs
95+ if parent.wheel.level w.level {
86+ entry.createTicks = parent.createTicks
a7 (@ }
88 + }
89 + w.slots [(nowTicks+intervalTicks)%w.number].PushBack(entry)
] 9 return entry
}
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os/gtimer/gtiner_timer.go (%)

1 @@ -16,11 +16,12 @@ inport (

/7 Tiner is a ierarchical Tining Wheel manager for tining jobs.
type Tiner struct {

- status  gtype.Int // Tiner status.
- wheels  [lswheel // The underlying wheels.
21 - length  int 7/ Max level of the wheels.
22 - number  int /1 S\ot Number of each wheel.
23 - intervals int64 // Tnterval of the slot in milliseconds.
status  xgtype.Int 11 Tiner status.
wheels  [lswheel 7/ The underlying wheels.
length  int 71 Max level of the wheels.
nunber  int /1 S\ot Number of each wheel.
intervals int64 // Interval of the slot in milliseconds.

([owFunc___func() tine.Tine // nowrunc returns the current tine, which can be custon. )

/7 Wheel is a slot wrapper for timing job install and uninstall.


https://goframe.org/pages/viewpage.action?pageId=1114363
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/'l Copyright GoFrame Author(https://gofrane.org). Al Rights Reserved.
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/1 This Source Code Formis subject to the terns of the MT License.
/1 If a copy of the MT was not distributed with this file,

/1 You can obtain one
package gti mer

inmport (

at https://github. conl gogf/gf.

"gi t hub. conf gogf/ gf / cont ai ner/ gt ype"
"gi t hub. conf gogf/gf/test/gtest"

"testing"
"time"

)

func TestTimer_Proceed(t *testing.T) {

gtest.C(t, fu
i ndex

slice :

timer
tinmer

nc(t *gtest.T) {
1= gtype. Newli nt ()
make([]int, 0)
: = doNewW t hout Aut oSt art (10, 60*tinme. M Ilisecond, 6)
.nowFunc = func() tinme.Tine {
return time. Now().Add(time. Duration(index. Add(1))

* tine.MIlisecond * 60)

}

timer

})

timer.

})

timer.

}

timer

1)

tinmer.
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tiner.

1)

tinmer

1)

timer.

})

timer.

})

for i

}
tine.
t.Ass

. AddOnce(2*ti nme. Second, func() {
slice = append(slice, 1)

AddOnce(1*time. M nute, func() {
slice = append(slice, 2)

AddOnce(5*time. M nute, func() {
slice = append(slice, 3)

. AddOnce(1*ti nme. Hour, func() {
slice = append(slice, 4)

AddOnce(100*tine. M nute, func() {
slice = append(slice, 5)

AddOnce(2*ti me. Hour, func() {
slice = append(slice, 6)

. AddOnce(1000*ti me. M nute, func() {
slice = append(slice, 7)

AddOnce(1100*tinme. M nute, func() {
slice = append(slice, 8)

AddOnce(1200*tinme. M nute, func() {
slice = append(slice, 9)

1= 0; i < 2000000; i++ {
ti mer.wheel s[0]. proceed()
time. Sl eep(10 * time. M crosecond)

Sl eep(ti ne. Second)
ert(slice, []int{l, 2, 3, 4, 5 6, 7, 8, 9})
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// addEntryByParent adds a timing job with parent entry.
func (w xwheel) addEntryByParent(interval int64, parent *Entry) *Entry {

num := interval / w.intervalMs
\ num 2t ®?

Nano() / 1e6

— \\TF?

wheel: W,

parent.job,
parent.times,
parent.status,

= \TF?

interval:
singleton: parent.singleton,
createMs: nowMs,

2 intervalMs: interval,

rawIntervalMs: parent.rawIntervalMs,
}
w.slots [(ticks+num)%w.number].PushBack(entry)
return entry

nunt i CKScreatei nt er val Ent ry

// Entry is the timing job entry to wheel.
type Entry struct {

17 + name string
wheel heel // Belonged wheel.
job JobFunc // The job function.
singleton  #gtype.Bool // Singleton mode.
\ status *gtype.Int // Job status.
times xgtype.Int // Limit running times.
22 - create int64 // Timer ticks when the job installed.
23 = interval int64 // The interval ‘ticks of the job.
23+ intervalTicks int64 // The interval ticks of the job.
EZ createTicks  int64 // Timer ticks when the job installed.
2 createMs int6a // The timestamp in milliseconds when job installed.
intervalls  int64 // The interval milliseconds of the job.
26 - rawIntervalMs int64 // Raw input interval in milliseconds.
}
65+ func (w swheel) addEntryByParent(jobRan bool, nowMs, interval int64, parent +Entry) Entry {
66+ intervalTicks := interval / w.intervalMs
& - if (ESTRRHEER == o { - 1RIBRT (83T H AT (B0 2 BB
68 + intervalTicks = 1
7 -
72 -
70 +
SEntry{
name: parent.name,
wheel: W,
job: parent. job,
times: parent.times,
status: parent. status,
78 - create: ‘ticks,
79 - interval: num,
77+ intervalTicks: intervalTicks,
singleton: parent.singleton,
79 + createTicks: nowTicks,
createMs: nowMs,
intervalMs:  interval,
83 = rawIntervalMs: parent.rawIntervalMs,

. Cl



	解决了一个GoFrame之gtimer组件的严重bug

